BORILLA oPORTS

Folding Sit—up Bench (10000481)




SHUORILLA oPORTS

Bolt M8%45 Bolt M8%45 Bolt M8x16
i — (] T ({
1x 2X 8x
Arc Washer @8 Washer @8 Nut M8 Nut M8
7’4
© © @ S
2X 12x 2X 2X
Bolt M8%50 Foam Knob
e -
Ix 4x
Spanner

10~ O E%@




HUORILLA oPORTS

570mm

Maximum load 150KG




(6 ©

Foam 2PCS Knob 1PCS Arc Washer @8 2PCS

8 ()
Nut M8 2PCS Bolt M8X45 2pcs




 — ] @

A\

Bolt M8%50 1PCS Nut M8 1PCS

© —5)

Washer @8 2PCS Pin 1PCS




 — 1) @
Bolt M8*45 1PCS Nut M8 1PCS
Washer @8 2PCS Pin 1PCS




(yme |
Bolt M8x16 8PCS /.@
© Foam 2PCS
Washer @8 8PCS




	10000481说明书 2
	10000481说明书1
	10000481说明书3
	10000481说明书4
	10000481说明书5
	10000481说明书6
	10000481说明书7

